FA-04 Question paper

I) Four alternatives are given to each of the following incomplete statements choose
the most appropriate one writw with its serial number: 1x2=2
1. The practical relationship between the three measures of central tendency is written

as
A. 3 median= 2 mean — mode B. 3 median = mode + 2mean
C. 2 median = mode + 3mean D. 3 mode = 2 median + mean

2. The surface area of the biggest sphere that can be cut out from a wooden cube of each
edge being 14 cm is

A. 616 cm? B. 462 cm3 C. 308 cm? D. 154 cm?®

I1. Answer the following questions. 2X1=2

3. What is the probability of an sure event ?

4. Find the number of scores of a distribution in which > fx=168 and the average is 12
I11. Answer the following questions. 2X2=4
5. Calculate the mode of following scores.

C.l1|/0-5 |[5-10 |10-15 |15-20 |20-25
f |3 10 14 8 5

6. Find the probability of getting perfect square number on the top face when an
unbiased die is rolled once.

IVV. Answer the following questions. 1X3=3

7. Bellow table shows the marks obtained by 50 students in maths exam. Draw a ‘less
than type Ogive’ for the data.

Marks No. of students
Less than 10 02
Less than 20 08
Less than 40 21
Less than 60 39
Less than 80 47
Less than 100 50
IVV. Answer the following question. 1X4=4

8. A hemispherical bowl of Internal diameter 36 cm fully contains liquid. This liquid is
transferred into 72 cylindrical bottles of diameter 6 cm. Find the height of each bottle if



10% liquid is wasted in the transfer. Also find the height of each bottles if 20% liquid
wasted in the transfer.

V. Answer the following question. 1X5=5

9. A container opened from the top is in the form of a frustum of a cone of height 21 cm
with radii of the lower and upper ends being 10cm and 20cm respectively. Find the cost
of the oil which can completely fill the container at the rate of Rs. 30 per litre. Also find,
in how many bottles the oil can be filled with each bottle being the capacity of 77cm?*
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